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Group-A / {@-5
[Full Marks: 50]

I. Answer any three questions from the following:
oo @-@ie! foafe e Teg wes

(a) Ram used to buy egg-rolls regularly. After he got a good pay like his
demand for egg-rolls fell sharply. What might be the possible shape of
Ram’s Engel curve for egg-rolls?

A fafie Qe-AF RFace!, OF S (@ SHERF TR F(E G91-@IEHE & O
BIfE ST I, G- T AR Q1T (I TR IO (T3 20 7 9
(b) Differentiate between isocline and a ridge line.

<l SHRCIFEEA (isocline) '€ «FfS ~fAorR elieraai T A o 2.

Suppose the total cost function is given by C =16+ Q. Illustrate the shape
of average cost and marginal cost curves in a diagram.
WA A GG T SAHIH T C = 16+ Q7 | Gl6 @fbiew 7kl 91T ¥ 9 AT
7 S efeR wipfe 399 T

}d) Use demand and supply curves to show unstable equilibrium and explain.
PRl @R @I @ AT T SAZOF SIS (Unstable equilibrium) (18
R RGN

\/(9)( Show that the expansion path for a Cobb-Douglas production function is a
straight line through the origin.

(R (A FIGIA BAM SLAPHCI CFGE A o2 o1 Reqgof 1R Aot =)

2. Answer any one question from the following:
fmfee @-@IE g3 fe drs Teg wes

(a)How can you distinguish between the Hicks approach and Slutsky’s
approach to decompose the price effect into income effect and substitution
effect?
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WWWWGWWWW@WW\GW-
«q S RIS (I ?
(b) Argue whether the following statements are true Or false:

s SRref e At ve o IR o FEl

(i) Ordinary demand curve is more elastic than the compensated demand
curve.
Wwwm«qsﬁm@mﬁmsﬁmmmﬁw
o)

(ii) The sum of own-price elasticity, income-elasticity and cross price
elasticity of demand is zero.
mmmmm%ﬁmw,wmﬁ%ﬁma« AP
wiere FEfeRsiTsi e X

3. Answer any {wo questions from the following:

Q- 75 @lvs Tea wes
(ay Explain the concept of stability of equilibrium. Is a Marshallian stable

. equilibrium necessarily Walrasian stable? Explain your answer.
FeiEE AEe oRe we & @ 2 @ o srfE-ar wed e, o
ST T e 2eT SRR 2 RO

(b) The production function is X = 4K a1 where a+ f <1.

_ (iy Show that there are decreasing returns to scale and prove that the total
product is greater than k times the marginal product of K plus / times the

. 3 . /_——’_\T _—/ .. » -
marginal productivity of L where k and [/ are quantities of the factors K

and L respectively.
@ a B WO X = AKTLP (el Wiy, a+p<ll
ore (1 SSRGS eifewi RN GURGE e W1 WHE e S A k
GR | T4F K 4R L 93 Sifaiel IR g, 4 b Berties AR k2 K
— 7 2T TeAiv @k 1 e L 9T elifyes Bestiea sl orev! AP

(ii) What is elasticity of factor substitution? Prove that the elasticity is unity
for Cobb-Douglas technology. Is the assumption of constant returns to
scale necessary for your proof? - '

Bl RS e e1ts & (@R ¢ S SE A Cobb-Douglas
B SR T @ T @F) SeREe R efenriTd FEs 4
e 5 (oI SR & 2TANENH ?

(¢) (I) Suppose Rakhi views butter and margarine perfectly substitutes for each
other.

mwa@mmmﬂem{ﬁﬂawwmﬁﬁﬁa@

(i) Draw a set of indifference curves that describes Rakhi’s preference
pattern for butter and margarine.

o1 e @l S o FCl
(ii) Are these indifference curses convex? Why?

«3 Frrers el R Eea g a1 e
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(iii) If butter costs Rs. 20 per pack and margarine costs Rs. 10 per pack
and if Rakhi’s money income is Rs. 200, which butter-margarine
basket will she choose? Can you show your answer graphically?

I TR W 2fS A 20 Tt @ et v 10 i 77 9 ARke
i I 200 Bt 20 o AR & AR e ¢ Wi [/ ¢ oW
el @ufbraw aiat (wlice #iei ¢

(II) A consumer spends her income on two goods X and Y. If an increase in 5
price of X by Re. 1 leaves her consumption of Y unchanged, what is the
price elasticity of demand for X?

A T GFT (S O T X R Y K6 TR T 476 1 X w3y v
IO AT (OISR Y GEF AR oS A X gaia sitwe
wiNeTe FEfeIeie] Sl 9

(d) Suppose the production function is O = ALK, 10+5

(1) Derive the long-run average cost and long-run marginal cost curves of
the firm for the above production function.

Q = AI*K'% -3 TAWMT SOFF & FICE IS oS 3 € R
211 3 @l el st

(if) What is the expansion path of a firm? Is there a link between expansion
path and long-run cost of production? — Explain.

{6 I 81 #1259 9 AN 6 MGHIAT Bt JGR G QIPRE Wieg
& 2 gt e

Group-B / f¥ett-4
[Full Marks: 50]
Answer any three questions from the following: 4x3 =12
HeEiRe @i 915 e e wies
(a) How are inventories treated in National Income accounting?
IS SRR W [N we7s 21 Rroia R a1 2 2

(b) If I =1+ ay, what is the stability condition in an otherwise Keynesian cross
model?

W ] =] +ay TSR @M T TOER FNR N 7 9
Distinguish between CPI and GDP deflator?

c coE v e e & S 1 frzrbe wa sty st fdfa s

(d) What is meant by classical dichotomy?
it Ao Fece & @it 2

(¢¥ How does an adverse supply shock affect the economy?

2fege @A o e adaifers eeiie o 9
y/w hat is paradox of thrift?
Y fire gRier wisite Rcai@el wie 6 9
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5. Answer any one question from the following:
ffeiRe @-IEt g fF evim Tea wes

(a) Write a note on the impact of technological progress on output, employment
and price level in the classical model.

P TCOE e, et 6 wNstes T afe wefe eor R a3
Bt et

7
(b) Discuss the concept of Balanced Budget multiplier using IS-LM model and

Keynesian model.

IS-LM model @R (ST NGEA AW 07 JEHe M6 @ora aenf
A SN

6. Answer any fwo questions from the following:
et c-coie 775 eie Baa mies
(a) In the IS-LM model what happens to equilibrium rate of interest, income,
/onsumption and investment under the following circumstances:
IS-LM SOt SRANY wd 29, I, cotl 77 8 RAEIeR 8w & aeiq 2ite
Y« ~
() When Central Bank raises money supply through open market
operations.
T (R IF (T IR FRRAER NT L @it I )
(i) Government raises tax but keeps the rate of interest unchanged through
monetary policy.

PR T Wi qea crem o 29 Wik aew Re w79 3

EF)
(b) “Fiscal and monetary policies differ in their impact on the composition of
aggregate national output.” — Explain.

“Ie SO SR N o efe HRe (v AleERe e wiids Sfer wy
NI T AR — QI A
(¢} () Explain the Keynesian concept of underemployment equilibrium.
e e Sl FReais Siieya aRe i st

(i1) Compare the effectiveness of Fiscal policy between IS-LM model and
complete Keynesian model.

IS-LM (T Gk 7 (P& T0ecem e it fsa it womil
@

%Write notes on the following:
() Liquidity trap
ORGTR v
(ii) Equilibrium rate of interest in the Classical model.

ST O SR T 29

X
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All symbols are of usual significance.

Group-A
ot-%

1. Answer any three questions from the following: 4x3 =12
fesfefie -ttt foafe eiriq Ted wes

(a) Distinguish between correlation approach and regression approach to the
analysis of bivariate data.

3-5or SR RCeael Teoifs »mfs 6 fegd oo wy #id Aot s
(b) Discuss uses of Geometric Mean.
TNGR 10w Rien Tagiaef @t

>(y/ If A.M. and G.M. of two positive real numbers are 10 and 8 respectively,
find their H.M.
% R 4TS A T T @R BENG TG FAFCH 10 G 8, O s ,
A a1 e e

)y'{ Prove that b, -b,, =r?

.2

AT b, -b, =7

r = correlation coefficient, 35S 7R,
b,x = regression coefficient of y on x

by, = regression coefficient of x on'y.

(e) During a certain period the cost of living Index Number goes up from 110 to
200 and salary of a worker is also raised from Rs. 325 to Rs. 500. Does the
worker really gain? If so, by how much?

@I G TES T GNP 110 Q0P QTS 200 AR @ I @1
@ TR (@O 325 BIRFY (UTF (0T 500 Bl ez § = 1 {52 e
2 2 RO 00! 9
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y/éxplain different components of a time series.
9= TN ifde Riey Toema T = ¢

2. Answer any one question from the following:
@I G5 Area Taa wes

(a) What do you mean by dispersion?

Rgfs eire & @R e

jryﬂ Show that z":lxi — A| is least if 4 = Median
i=1

e @ i|x,.——A| -9 I FEON I 4 = TG

i=1
(b) (i) How will you explain kurtosis of a frequency distribution?
@ @3 AR Rereter Srre gratl i i
(ii) Show that Bowley’s measure of skewness lies between +1 and —1.

18 (T Bowley’s &fStaasy #ARisiaioa T +1 (F — 1 T AW

3. Answer any two questions from the following:
e -t qfF eivs Ted wiss
(a) (i) What is coefficient of variation?

(SRIE I I 2

(ii) If ax+by+c=0is the relation between two variables x and y then find
the correlation coefficient between x and y.

Tt 7B 557 x GRR -7 TG FORE ax + by +c=0 T, O x 4R y 57 o4
2 ARG @NT (@ IR

(iii) Find median from the following data.
057 iR AR (i sy A Ak e

Weight inkg | 36-40 | 41-45 | 46-50 | 51-55 56-60 | 61-65 | 66-70
e e

No. of person | 14 26 40 53 50 37 25
EFRRA

If mean is 54.3 kg, comment on the shape of distribution.
3t 4% = 54.3 kg TSR [0 SFI w9

1036 2

8x1=8

2+6

15%2 =30

6+2



B.A./B.Sc./Part-1/Hons./ECOA-11/2018

(i) Calculate Quartile Deviation.
‘Quartile Deviation’ R TN

Class 90-99 | 100-109 | 110-119 | 120-129 | 130-139 | 140-149 ,
=3t v
Frequency | 65 69 76 34 42 27 0

R W

(ii)/If frequency, mean and standard deviation of two sets of observations
be denoted by n, X;, 0, and n,, X,, 0, respectively, then show that
ol not +n,of +nd} +n,d?

where d,=X,-X, d,=x,-X
o? = variance of composite set

X =mean of composite set.

(PR BT Y2 R SRTwR SR, @fe T, A Ryfe e
n, X, 0, 9R n,, X,, 0, MW

2 2
2 rz,a‘,2 +ny05 +nd +n2d22
g =

n +n,

@A dy=x,~%, d, =X, ~-X
o? = AAffrs @R cewwiN
x = ifere wrwa Qe e
(c) (i) What are the uses of Index number?
I YR JIAeF & & 9

(ii) Compute the Marshall-Edgeworth price index from the data given
below:

ffeiie o i Ifie-qwene Wi g5 A fef s

Commodity 2012 2017

&9 Price | Quantity | Price | Quantity
w | s | v | A

A 2 74 3 82
B 5 125 4 140
C 7 40 6 33

(iii) Discuss the problem in the construction of index numbers.

53 WY1 ffieem oo [{iST weme st s
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(d) A1) Show that rx":ﬁc{d—lrw
c

x;—a ,—b
where u; =— v,.:—}ﬁ——
c d

a, b, c, d are arbitrary constants, ¢ #0, d=0

r = correlation coefficient.

@A ry, = cd L.
telld|

x;,—a v':y,-—b
c d

a,b,c,d=83, c#0,d+#0

r = T2oAfS @i
\(yAven Y x=125, Y y=80, ) x*=1585, 8

3 y?=650, 3 xy=1007, n=10.

Calculate (i) correlation coefficient r, (ii) two regression equations
meniEE Y x=125, Y y=80, D x"=1585,

> y?=650, Y xy=1007, n=10.

e 1 (i) TS @i, (i) B TSt et

@Ay, =

Group-B
Teta-4

4. Answer any three questions from the following: 4x3 =12

e -t foafb ot Tea wes

(a) Define convex set. Give two examples of convex set in economic analysis. 2+1+1
Give two examples of increasing economic function.

‘Convex set’ 9o & Q@I ? Convex set-&3 T Twidd wie A weifea
QB TS T, TR Ao et g Trigad whe

(B(Consider a firm with the production function Q=K°'5L°‘5 with P, = Rs. 9
and P, = Rs. 4. How much of the two factors will the firm use if the desired
output is 30 units?

N T G FICh Testw Sows T Q=K 105, QA Py = 9 IR O
P, = 4 B, TR BertivA 7 30 G 70 SIEE TR Yo O F© AT TR
FARY?

1036
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c)/If the marginal cost function is

/
MC =2+3,/Q +5//O find the total cost function F(Q), when F(1)=21.

(e)

(b)

T T I WEFIT MC=2+3,/0 +5/\/0 T, G5, 7 WS F(Q)
R F@, T F(1)=21.

“Obtain the equilibrium values of national income Y and saving S for

consumption functions C'=25+0.7Y and investment function /=5+0.2Y .

What will happen to equilibrium saving(S) if autonomous consumption falls
to 207

(Ol SoPHF C=25+0.7Y RN S0 [=5+0.2Y 2, SO S (1)
G FEER (S) O WA Ay A I FTFS (S1IT 7Y (T 20 W, O
SR Ay el #Rao @ 9

Show that income share weighted average of income elasticities is unity and
show that two goods cannot be ‘Superior’ in a two good world.

@A (T AIEE R ST eFifie winse Ffegre Wi @ TN a3
@Are A Y w3 <fRATS 7I79T GG “Superior’ TS M@ M

Answer any one question from the following:

fsfeide @-@IEt 9356 ov Sea wes

Derive the value of the balanced budget multiplier in a IS-LM model. How
does its value Differ from a simple Keynesian Model? Can they be equal? If
yes, when?
IS-LM C&H (JCF SIS Aes eiced Wi 4 3t el «3 e I[
TG (FLAAR NG QI W (AE HEAM J 9 93 7 Wi [ o711y 279 M
v zw, A9 9

he market demand function of a competitive industry is represented by
0=10.5-P,where Q is the quantity and P is the price. All firms in the
industry have identical cost function C=g—¢*+0.5¢4°, where C is the cost
of a firm and ¢ is the quantity of output produced by each firm. Calculate
(i) The output produced by each firm in the long run
(ii) Long run equilibrium price
(iii) The equilibrium number of firms.
afraivergEie Fis wR bRw STAHF 9 =10.5— P, @A P T WH 4R O
T AR e, P Al Seetnw afodim I @t ofew
C=q~g*+0.5¢°, C &I Teoime &AfSHIR I IR ¢ OR TS F&A
QIERiCH

o e

(i) ol Berive alfediam Al e,
(i) TR SR 7w,

(iii) SR Bestva BT ! |

3+1

3+1

8x1 =1

4+2+2

4+2+2
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Answer any fwo questions from the following:

afefRe @-ic 7f6 eftem Ted e

A

(i)

(iii)

()

(i)

(iii)

®) ()

(i)

(i)

() (©

(i)

State the Slutsky equation for a national consumer and deduce from it
that a Giffen good must be an inferior good.

Show that for the utility function u =g, - g,, the Income-expansion path
is a straight line from the origin.

If U=Y%?. [ is the utility function of a person where ¥ denotes wage

income and L denotes leisure time enjoyed (per day basis). Find out her
optimum leisure when the wage rate is Rs. 100 per hour.

Slutsky FR@AT Gt @3 @@ AR Aee e @ g fe P 2y
@35 (NPT e

o SAFI =g, -g, T, FNS @ W S @A FTRY @
Benifae g3t FREIl

O e BN WeorRs U =Y. [ @RI ¥ 2 Igid aw i @R L
%o Retitem 1 (v Fofers) 1 2w fem 71a o5t g oo Bl 27, iR
oty e AR TS 21 9

Consider the production function Q=LK 2. Find out the longrun cost

function associated with it. How does the average cost behave with
change in output?

Consider the following static model.

q° =a+bp(a>0, b<0)

q° =c+dp(d >0, c<0):

Examine the effect of a unit tax ‘¢’ on the price in this model.

TH @ 9B e Seorse T Q=LK R A g3 @l
fdfae el Teola ARRSER 3 7o o1% 7 i Affafde = e

e g Toaba oF Sevid afs 3% g < T I T,
ST RITE B DEd o fdiae et
g =a+bp(a>0, b<0)

q° =c+dp(d >0, c<0)

In the following model of coffee and sugar, demand and supply
functions are given as

D.=100-5P.-P,; S,=—20+2F,

D,=80-4P. -2P; S;=-10+F,

Using matrix inversion, determine the equilibrium prices and quantities
for the two goods.

Using Cramer’s rule in a IS-LM model, show how equilibrium national
income and the rate of interest will change as a result of increase in the
autonomous consumption expenditure.

15x2 =30

4+4+7

8+7

8+7
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() @ IEiE 3 ¢ Bz vifEwi € @ine Srrsee e g
D,=100-5P.—P.; S,=—20+2P,
D,=80—4P,—2P; S,=—10+P,
mifts Reifiosael-3 R0 FIHa OREI #i @ #Afie e s

(ii) < IS-LM S0 (@R als IR FE, w418 Fei@ SReg s
I @G3R IR B A 3 I qagS coel 7 3 it

(i) Show that if a consumer maximizes his utility subject to a budget
constraint from one given utility index, she will behave in identical

fashion irrespective of the utility index chosen as long as the index
selected is a monotonic transformation of the original one.

(i) Prove that in a two commodity world, expenditure share weighted sum
of own price elasticity for the first commodity and cross price elasticity
of the second commodity equals expenditure share of the first
commodity with a negative sign.

(iii). Given AR=60-3Q, find the total revenue function and the marginal
revenue function.

() mAre @ IR @IE ot [iwE ARG FAEACE @I @we Tl P
P HKRT Toin e I, OiRE WM Seiaet pe MR @
ST WEae FAE TOH S WANS 53 8] 6T LT «FYI
ERIREEIS]

(i) @ R @ 42 7y [EE RS q0a KeR SE i o4 G
ey wivere Rfegeet ¢ e T e si=iiis nimse RisgFer w=E
SN G SO YR TR AN 5 el ook

(i) *NTF 4R=60-3Q UHT (W6 T @ 2oz o e wean

X

T+4+4



